i

CS (Main) Exam, 2020

| URC-B-HST|
gfag@ / HISTORY
T9+-u=t I1 / Paper 11
R g : i w2 Sferman & ;- 250
Time Allowed : Three Hours Maximum Marks : 250
99O Wl faow oW
FaAT ToAT & IAT 37 @ Q& REAforierT I JFev &1 a7l E g :
377 om3 57 & o 3t wvet § Ryrfsa & aur @<t sk sriet ST H 99 5T E /
weTeT ) FoT gia g9 F I T 8
yv7 g7 1 3k 5 Rart & aor @1l 5o § @ 9% Gve & FH-8-FH Uk J97 GIH 18] 17 T & IR G /
T F F9/97T & b Iq& GH7 R T & |

Yo & I I Wifga A § for@ 7 FiRy [5aHT IgE 9 -7 # 31 T 8, 3K Fh AT F L
IPET JeT-85-I (F.H.T.) JEHT & J@-98 W [l T T A7 FT F0eT | U Aqq F ks d=
5t arem & for@ e IR | FIE 37 T8 A |

ywl ¥ vieg &, gl @l 8, T ey 53 T TRy |

v & I 1 T FAFER F TR | T BT 75 &, a FeT F IR # T F) SN G qg TR 379 AT T
8 | FT-TE-IR GiawT 4 GIclt SIS B 53 I 73 S7¥ Fi T & & Bl ST Y |

Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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WUs A
SECTION A

Ql. Tr=feiRem werl & & weres =1 e 150 vregt § EETETEATRSE TieTor AR

Critically examine the following statementsin about 150 words

each :

(a)

(b)

()

(d)

(e)

URC-B-HST

“rertre Wl T i g o 1839 # g oft | R U R v ¥ R
FASTRAT o faThIE HT Gohd o1 |7

“Maharaja Ranjit Singh died in 1839. His death was the signal for an
outburst of anarchy all over the Punjab.”

“Ir gRfE SN § S@ AR Tgene sTafue ot qun afl-andt sigia o
& o, 36 T AffE st IeR anfife-gur s<ieHt @ ww #Y |7

“In the initial stages, when Indian nationalism was immature, just

sprouting, it found expression in many liberal religio-reform
y

movements.”

“20e1 waTet % yr B et St wired sfei § omme el v & f g
wfshaat & &1 R qom Ao cam i werEa & et & uoeifae qen
FHI Tl W higa femen 17

“In the early twentieth century, there came into existence a number of
women’s organisations, which operated more actively in the public arena
and focused more directly on women’s political and legal rights.”

“URa # ¢ IR e 3 HEEYUl YSTEl W T Fae U HEY % AEH B
Trede foRa 3t 3 Tt & sHes faww aun w@ww @ oft wnfea fen \?

“The Trade Union Movement in India not only supported the call for
national struggle at critical junctures, but also impacted its course and
character in several ways.”

“arefiE ATt | IR SraiAT T 3R HA % YR W Sie Hisvede Wy
30 frehd w uge 5 favrem & v sraEiies qen aeifre weam o |
“Based on his discussion with Indian leaders, as well as his own

perception, Lord Mountbatten soon came to the conclusion that partition
was the only practicable and feasible solution.”
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Q2. (a)
(b)
(c)
Q3. (a)

(b)

(c)

URC-B-HST

g1 7 el SR Wl wenedt & aneeh Rl # gl w1 On v w1
foega o= &t ' TEifoss Remn st fen — 58 aele # e § s
TR 3o Frft 3 figorar & o 3w fRn 17 aRear smen SR |

“It was Dupleix who had first showed the way of intervening in disputes
of the Indian rulers and thereby acquiring political control over vast
territories — a technique which was later perfected by the English East
India Company.” Elaborate.

1857 % fI5ig H T o GHT O A I AT F ARG TR @ e
A SHEAT ST @ | 3G RO &l @IS hael U1 & 7909 & &4 d & 7
wTh I 30 qovd |rifores 3 enfies qiteds Y welt when § o 9
=1fee e e gl w wEm e | e Hif

For long, the Revolt of 1857, has been mistaken to be a mere mutiny of
the Indian sepoys in the Bengal army. However, its causes need to be
searched for not only in the dissatisfaction of the army, but in a long
drawn process of fundamental social and economic change that upset the
peasant communities. Discuss.

T Ak HATAR WRA § 1857 ¥ qd 3T 1855 — 56 1 woret gl (rghe)
TEH TRt ST SATele o ?

Do you feel that the Santhal Hool (rebellion) 1855 — 56, was the most
effective tribal movement in pre-1857 India ?

Y ARF A § ToHifos Tagr i S A T why e w49 oft
Th A IR WA TE @1, WU & GOl 3 Sig B ey §
w3, g H off wive 5 on | = 3 929 3@ 9w A g @ § S
! TATYAT Th “GRaT area’ & &9 ° hi 73 off 2 Tm i |

In its political behaviour the Indian National Congress in its early
career was never a radical organisation, besides the founders of the
Congress involved A.O. Hume in their project. Do these facts verify that
the Congress was founded as a ‘Safety valve’ ? Explain.

T AT 39 72T | TeHT & (6 g aieH h Wy JAHHSAdT a1 TTAE!
GRgys W SR ISR A it wfafaftnn % fog aitfeafes 0 fmfor e 2
fasm hifvw |

Do you agree with the fact that the virtual failure of the
Non-Cooperation Movement and the gloom that descended on the
nationalist scene, created conditions for revolutionary activities ?
Discuss.

FioMT 1 39 WRETE SR & w9 § 3@ T fes v @ &g s
1 HTE foRaT ST gehar o1 | gheer HifvT |

Planning was seen as a powerful instrument that could be used to
remove regional inequality. Examine.
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Q4. (a)
(b)
(c)

URC-B-HST

“yreta ToEif % fawfia o frarererg & # widfsh e forg we wewedt
Rl 1 < W TH FRE I F B e T R afew gReges
THURRT ¥ & ) TEAREl ¥ aeEl | S e |7 faa=m fifg )

“In the divided and contestable space of Indian politics, Gandhiji could
claim for himself a centrist position because he alienated neither and

tactically combined the goal of the moderates with the means of the
extremists.” Discuss.

“qredfir Tadan % IYEIq WRA-HF @Y 980 TASRT % 1Y I g, W
3 IS AT § WG ) S SABHERAT % hed NI B AT HET 98T 17
wferar =men iR |

“After Indian Independence India-China relations started on a high

note, but during the course of the coming years India had to face a bitter
experience due to the Chinese aggression.” Elaborate.

“UTeTE YR W ST T GA71ST T GaorohlUl quT ThHIH 61 THE@ I8
o1 |7 feoqoft iR |

“The Reorganisation of the States on the basis of language was a major
aspect of national consolidation and integration.” Comment.
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SECTION B

Q5. FrefeRaa wal § | e &1 TRTHT 150 Yse| H THTEeHTeH gdteron Hife :

Critically examine the following statements in about 150 words

each :

(a)

(b)

(c)

(d)

(e)

URC-B-HST

“TeeT ¥ g $© THR A i w1 @i aun gl o faem
§|”

“The principles of Enlightenment were in some ways a continuation of
the discoveries and theories of the Scientific Revolution.”

“G 1789 I % hi i H HRON B eiemiferss qUT AT BN *
1YY qehTed TeATd off snfere off 17

“The causes of the French Revolution of 1789 included both long term
and structural factors, as well as more immediate events.”

“sréraell AR HITEH], TEte 9T Wl weet 9 % I % WY ANfh
i~ & OIHT TN o TeITash TROTE 8T I

“Industrial Revolution had far reaching social and political consequences
with the advent of assembly line factories, urbanization and rise of the
urban working class.”

“Ju TG TY 9 gew H el fowd’ F w9 H 60 R0 A A @ oyem
fava & Tl et 9, ot 1 & R fovd % wrerd) oui A wrefE
al”

“The multitude of newly independent countries came to be known as the
“Third World’, belonging neither to the First World of capitalist
democracies, nor the Communist Second World.”

“U¢ 1948 H, ! A Frefied™ & g Y& w4 o1, MR 3 & & fow =t
qell 3 A <hi oft | Swel qen et % Hea St fwn ok wew g 17

“The British were slated to withdraw from Palestine in May 1948, and
both sides prepared for that day. Violence between Arabs and Jews,
already endemic, escalated.”
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Q7.

URC-

(a)

(b)

(c)

(a)

(b)

(c)

-HST

“Yfer T T FfER TE o1 Teg 3EY 1789 ¥ 1791 % Wed gT I
bl IREEl 1 ggedt YGH H quT I WA Weud el & e
foremt qen et w1 wwea fran 17 fag Aifv

“Napoleon was not a revolutionary but he solidified many of the
revolutionary changes of 1789 — 1791 and he himself supported most of
the ideas and proposals of Enlightenment philosophers.” Substantiate.

“Trept h geu Aftumon ot 6 grEwen ¥ g2 o e T Bl w9 § fof
T BN AT W FHSG1 g ATk T % Al A& S Fehal |7 5 T8
g W forem 1 wfiem & ded A feugft sega Aifd |

“Lincoln’s main thesis was that the Slavery issue had to be decided one

way or the other and could no longer be evaded by compromise.”
Comment in the light of his role in the American Civil War.

“@q 1848 st sHIf<ET 7 O TS 1 wEdfia X e a3 @ P 9
T2 BISAT TS1 | Sl S99 W@ I IQRAR, UFHTE U1 GHISETE Ad qufra
I o |7 feoquft HifSre |

“The 1848 revolutions frightened the crowned heads of Europe and

caused several to abdicate. Those who remained were cognizant of the
threats posed by liberalism, nationalism and socialism.” Comment.

“forcteh 1 TF q9T AR’ HT WIEOT qAT FEA F THHET T 39H gRT FHU M0
wiftrereft ST 3 foremeh *i o =@ (JIron Chancellor) % &9 § fyeamd
X T 1 goTetterTcne qhger Hifda |

“From Bismarck’s ‘Blood and Iron’ speech and his forceful actions to

achieve German unification, Bismarck came to be known as the Iron
Chancellor.” Critically examine.

1 I T S A WEAd 3 T T foma gg sfmm &1 qod faeaes 3¢
o1 ? Gfaer sareEn Hfa |

Do you agree with the statement that the Second World War was
history’s most destructive war ? Elaborate.

3 aitferfadt i foaem Hifse SAF SR o 1962 § wid =t sresiifan
BT UST AT |

Discuss the circumstances leading to the French exit from Algeria in
1962.
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Q8. (a)

(b)

(c)

URC-B-HST

wiftH 4 fra ger afm 6 fauma sicwfes wifa + @ Sem@n aon
TG % AT qwEl o g [eId WY (J.UH.TH. AR, ) H TH HERIE
a1 feam 2

How did Stalin build on Lenin’s legacy of Bolshevik Revolution and
introduce new elements of totalitarianism to transform USSR as a
superpower ?

¥fia g F wAIH & v fova ToEifa o we Au Wi Al o 3ed ge |
foreo hifSre fop fore TR Tg® TS Wl (J.09.U.) THATH TEIRe &4
T |

A new configuration of power emerged in world politics after the end of
the cold war. Analyse how USA managed to become the sole superpower.

ArereATeRs qhger hifsie f6 = a8 weEr 3fua s 6 e waed) 9
JOfe X ffear & SR okt Tg-fmior % % &% fore welt-wifa dam &
q |

Critically examine whether it was true that after a century of
dependency on Europeans, Africans were ill prepared for the task of
nation-building.
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